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DIN AC231),8(209)
DIM C(10),E(1023),D(1024)
L1=20 .
L2=10
J7,98=0

AC1)»A(2)5A(3) =1
FOR M1=2 70 L1

FOR N1=0 TO M1
K1=M1#(M1+41)/2+N1+1
IF N1=0 THEN 170

IF N1=M1 THEN 170
ACK1) =A(K1-M1)+A(K1-M1-1)
GOTO 180

ALK =1

NEXT N1

NEXT M1

REM

REM

FOR M2=2 70 L1

FOR N2=1 TO M2
K2=M2%(M2-1)/2+N2-1
B(K2)=0

FOR M3=0 TO M2-N2
K3=0

FOR N3=M3 TO M2-N2

K4=1-2¢ (M3+N3-2%INT((M3+N3)/2)).

K5=M2% (M2+1) /2+M2-N3+1
K6=N3%(N3+1)/2+M3+1
K3=K3+K4*A(K5)%A(K6)

NEXT N3

B{K2) =B (K2)+K3/(M2-43)
NEXT M3

NEXT N2

NEXT M2

REM

REM

PRINT

INPUT 41

IF J1<-2 THEN 1400
IF J1=-2 THEN 700
IF J1=-1 THEN 550
IF J1=0 THEN 500
IF S1=0" THEN 480
S1=81*J1/(S1+31)
PRINT »$1

GOTO 390

$1=J1

GOTO 390

PRINT

PRINT *SERIES”®
PRINT

$1=0

GOTO 390

REM

PRINT

PRINT ’PARALLEL-1’
PRINT

INPUT J2

IF J2<~2 THEN 1400
IF J2=-2 THEN 700
IF J2=-1 THEN 580
IF J2=0 THEN 500
INPUT J35J4

1F J2>J3 THEN 580
IF J3>L1 THEN 580
IF J3<2 THEN 580
IF J4<=0 THEN 580
S1=44%B(J3%(J3~-1)/2+32~1)
PRINT »S1

GOTO 580

REM

PRINT

PRINT ’PARALLEL~2*
PRINT
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INPUT U5
IF J5<=2 THEN 1400
1F JS==2 THEN 730
IF J5=-1 THEN 550
IF J5=0 THEN 500
INPUT J6
IF J5>J6 THEN 730
1F Jé6>L2 THEN 730
IF J6<2 THEN 730
FOR M4=1 TO L2
C(M4) =0
NEXT M4
FOR N4=1 TO Jé
INPUT C(N&)
IF C(N4)<=0 THEN 850
NEXT N&
IF J5<>J7 THEN 863
1F J6=J8 THEN 1210
J7=45
J8=J6
p(1)=1
FOR M5=1 TO 2#%%L2-1
D(M5+1),E(M5)=0
NEXT M5
11=1
D(1)=1
FOR NS5=1 TO 2#*L2-1
D(N5+1) =0
NEXT N5
X1=11%2
X2=0
X1=INT(X1/2)
1F X1=0 THEN 1010
X3=X1-2¢INT(X1/2)
IF X3=0 THEN 940
X2=X2+1
1F X2>=J5 THEN 1040
GOTO 940
11=1141
IF 11>=2+*J6 THEN 1210
GOTO 920
1220
13=0

X4=INT(13/2%%12)
X5=X4=-2+#INT(X4/2)

IF X5=1 THEN 1130
XC=INT(11/2%%12)
X7=X6-2*INT(X6/2)
D(I3+4142+4%12)=D(13+1)*(2%X7~1)
D(I3+1)=D(I3+1)%(1-X7)
13=13+1

IF 13<2%%J6 THEN 1060
12=12+1

IF 12<J6 THEN 1050
FOR 14=1 TO 2*%J6-1
E(I4)=E(14)+D(14+1)
NEXT 14

60710 1010

REM

$1=0

15=1

IF ECI5)=0 THEN 1360
$2=0

16=0

YI=INT(IS5/2%*16)
¥Y2=Y1-2*%INT(Y1/2)

1F Y2=0 THEN 1330
IF.S2=0 THEN 1320 .
§2=52%C(16+1)/7(S24C(16+1))
6070 1330 '
$2=C(16+1)

16=16+1

IF 16<J6 THEN 1260
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1350 S1=5S1+S2+E(I5)
1360 15=15+1
1370 IF 15<2%%J6 THEN 1230
1380 PRINT »S1
1390 GOoTo 730
1400 sTOP
1410 END
">RUN
14:01 04/10 -
20
‘SERIES
21000
‘22000
666.667
‘220C0
500.000
7-1
‘PARALLEL-1
21,2,2000
3000
225,25,200C
1000
?-2
"PARALLEL-2
21,3,1000,2000,3000
3928.79
2153,3006,2000,1000
3928.79
22,3,1000,2000,3000
1525.76
"22,3,3000,1000, 2000
1525.76

- P N R B 907

?2353,3000,3000,3000

1000
-1
PARALLTL-1
?3,3,3000
1000.00
72+3,4000
3333.33
-2
PARALLEL-2
22+3,4000,4000,4000
3333.33
7-3
1400 NALT
>
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